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DERIVATE

D(a?) = p:vp ' (peR)
D(a”) =a"Ina

D(e*) =

D(log, z) = Llog, e

D(lnz) =1

D(sinz) = cosx

D(cosz) = —sinz

D(tanz) = Coslg =1+ tan? x
D(cotz) = — 55— = -1 — cot? z
D(arcsinz) = 11_302
D(arccosx) = —\/11_7
D(arctanx) = Hle

D(sinhz) = coshz

D(cosh ) = sinhz

INTEGRALI

P dx :3;;:11%—0 (peR, p#-1)
Lde =Inlz|+c

a® dx —m—kc

e dr =e*+c

sinz dr = —cosx + ¢

cosx dr =sinz + ¢

dr =tanz +c

cos2
dr = —cotx +c¢

m
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V1—zx2
sinhx dr = coshx + ¢

dr = arctanx + ¢

dr = arcsinz + ¢

coshz dr =sinhx + ¢



SVILUPPI DI McLAURIN
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1) e —1+x+”§—l—”§j+ + Z0 +o(z™)

2) Il 42) =2 = % + 5+t (DI ofa”)

3) sinx =z — 3, +Z ) N 2:;:)' + o(227+2)

4) coszx =1— 2, + Lt (=) (2n)'+ o(z27+1)

5) tanz = x + % —|—2i+0( 6)

6) arcsmx—m—i— + 3z _|_0( 6)

7) arccosx = § — arcsinx

8) arctanz = x — —3-1— z° =+ _|_(_1>n:;i”:11 + o(22n+2)

9) sinhzy =z + % 3, +Z 5, + L+ (2::’1)' + o(z27t2)

10) coshz =1+ G + G + .. + Goyp T 0(@ 2n+1)

11) A4+z2)*=14+az+ O‘(a! D2 4 ooz 1)(0t 2) 3 4 4 (%2 + o(a™)
11a) ﬁ=1 vta® —at o (o e + ofa™)
11b) 11+9c 2 + I W + 3152:?3 +o(z*)

)

x x 5x*
1‘|—ZIZ‘ 1+§—§+——m+0( )

TRIGONOMETRIA

12 p+q coS p2q

_ p+q p—q
13) sinp —sing = 2 cos =~ sin =

_ p+q P—q
14) cosp + cosq = 2 cos cos =

COSp — COSq = 2smp+q sin 254 .

sinp + sinqg = 2sin

15

1) sin(p + ¢q) = sinpcos q + cos psinq
2) sin(p — q) = sinpcosq — cos psing
3) cos(p+ q) = cospcosq — sinpsing
4) cos(p — q) = cospcosq + sinpsing
5) sin(2p) = 2sinpcosp
6) cos(2p) cos?p — sin? p
7) sinZ = &, /1=55p
8) cos L = 4, /15
9) sinpcosq = % [sin(p + ¢q) + sin(p — ¢)]
10) sinpsing = 1 [cos(p — q) — cos(p + q)]
11) cospcosq = 1 5 [cos(p — q) + cos(p + q)]
)
)
)
)



Formule parametriche

Posto t= tan% :

2t
1) sinx = Ther

_ 1t
2) cosz = 175
3) tanz = 2

1—¢2

FUNZIONI IPERBOLICHE

Relazioni fondamentali

1) sinhz := ‘ _26

x —X
2) coshz := %

r _ ,—x 2x 1 1— —2x
3) tanhx := c - ¢ = ¢

er+e % 241 14e 2
4) cosh®z —sinh®z =1
5) cosh 2z = cosh? z + sinh? z

6) sinh 2z = 2sinhz coshx



